
loja)- 9 ;aj41=3 

..lca= 2 

antas'fintftonbJoe 

.:/+itma= see. 

Gm) 

)7-(2+*a)o (2-iG) 
(2 - i3) (2 +ia) 

nsfestisin) (onf-iin. 

35 

1V5, 3 

(2)- 2 (2)+ 32 = O 

y-/2 4y+32=O 

2= 2 

& 

25 

2, 3 

ltora ising) .4ladja) - (aja) A: l4II 

(3) c- 3b+ 9 : 2| 
C+ sb+25a= &1 

2/ 

2)| 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.padasalai.net/
https://www.padasalai.net/


b+24 = 5 

-35 

2 

ta+2ty7J 

3O 
- -4 lo oA-8 o 

23 

-4 

2/ 

+2 

+62 -35 + 

-15 

32 

-3 

(25) 3-tb- 2c =/ 
|At2b+ic= 2 

2u-Sb-4c 

:- 5 

A-5 

-2 

-) 

(* 9, z) = (I, 3, 3) 

Acz-5 

an-3)(* +) = 

x.cos n isinm< 

Losnfs ris ln ne 
= losld-n) isintA-n) 

ces(m- p) 

x- & a -2Vi5 

-iein(nd-) 

2i Sin Cma-nA) 

F 
lesCm4+oB)t isin (mdnB) 

sea s, (e)- Ges)* 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://www.padasalai.net/
https://www.padasalai.net/

